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Distinguish between Market failure and Governy
\ AL

Discuss the essence of Emanuel’s theory of yy

S. What are the implica ic development of a

country?

SES+D

8. ve of development

nine Rostow’s pre;v ition:
[ various less developed countr

=

e 2 %
role of ‘leading growth sectors’
ed by Rostow.

iment of ‘take off’ stage
6+4

consequences of poverty obstru

e the process of industrialization and rural-urban migration ir sistance labour surplus

ny on the basis of Lewis Model. 3+7
Write shoﬂ notes on :
(a) Vicious Circle of Poverty _
(b) Role of human capital in economic developr 545

Lol

11. (a) How do you relate coordination failure to c

- (b) Show that such coordination failure can give rise to an undesirable low level rium even under
j the existence of privately rational decision fu 3+7
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